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MANAGEMENT ACCOUNTING
- Time Allowed : Three Hours
Maximum Marks : 75
| ‘Minimum Pass Marks : 25
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'Note : AnsWér all questio_hs..Ali_' que_s‘tiphs' Carry é'q'ual
marks;. | | |
- 3@%-1 ! UNIT—I :
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What is meant by management accountmg’?
Discuss its main tools and techniques.
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fFa=or N Q‘\. Particulars 3

e 30,000 Cash 30,000

o 15,000 Debtors 15,000

i 10,000 Stock , 10,000

wdeq o 5,000 Prepaid Expenses 5,000

SR 115,000 Creditors . * 15,000

T - . 3,000 . : Bills Payable 3,000

R A 50,000 Sales 50,000

- _ 36,000 » Purchase 36,000

- m | 6,000 (- | | Purchase Return 6,000

S ——— » & e\ ) :):ot\::]:a:sns of above informations compute the

ifaTe - - ; o (1) Working capital ratio

(1) mgﬁa EQUE L \J . ) Acid test ratio

(2) O S _ .' @) Stock and cost of sales ratio

(3) <efoar o fobt o argur : (4) Payable turnover ratio

(4) <T@ BT and Ui ‘ | _ (5) Average time of payable

(5) it & amafer : ' ' g&-1II / UNIT-II

The following data are being taken from the =~ q 2. @ yaw Rror @ €2 ug Az WaR RO A

records of Radhika Bakery as on 31st fw woR BT € ? Bt & e Wl o v @

December, 2022 : T difsre _
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t ? How does it M

What is a fund flow statemen - II. wmft:
differ from cash flow statement ? Explain the ' 1, iR-am i
main sources and uses of funds. | aT 5,40,000 | 6,00,000
sjerat | OR | B 3,70,000 | 2,00,000
g o & Preifon Ricdl & IR R 0§ S 2. g
A o <eferan 12,000 | 10,000
FS— 2022 i L RS
3 3 AR 45,000 | 70,000
— ‘o fawm 45,000 | 60,000
. m B i % T Ay TG 8,000 | 10,000
1. T g | 10,20,000 | 9,50,000
3 & 8,00,000 | 7,00,000 P
TE@wenw o B (1) =g af & 2R T 8,000 X gl
2. 1 @i : _ (2) 1?11'-3 (i) R EE T 15,000
Re & © (3) g A ¥ ORW ue WA T 50,000 F @
fafaer oFeR 90,000 | 1,00,000 o 3R ST YA SRE SR Re fod
< fawa 90,000 | 1,20,000 : T
IR AT 40,000 ‘30_99_(_1_ Prepare cash flow statement from the following
am 10,20,000 | 9,50,000 Balance Sheet of Vaibhav Ltd. :
NJ-1216 N.J-1 216 P.T.O.
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Paniculaﬁ 2022 2021
3 k4
[P S
L Equity and Liabilities :
1.' Shareholder's fund :
Share capital 8,00,000 | 7,00,000
Reserve and surplus = -
2. Current liabilities :
Trade payables
Sundry creditors 90,000 | 1,00,000
Bills payable 90,000 1,20,000
Provision for taxation 40,000 30,000
Total | 10,20,000 | 9,50,000
O. Assets :
1. Non-current Assets .2
Building 540,000 | 6,00,000
Plant 3,70,000 2,00,000
2. Current Assets : '
Inventories 12,000 10,000
Trade Receivables
Debtors 45,000 70,000
Bill Receivable 45,000 60,000
Cash and Cash
Equivalent 8,000 10,000
Total 10,20,000 | 9,60,000
NJ-1216

(7)
® Additional Informations -

(1) Tax paid during the current year for ¥ 8,000.

(2) Depreciation on plant ¥ 15,000.

(3) During the current year, purchased a plant
for ¥ 50,000 and the payment was made by
the issue of shares,

§oE-II1 / UNIT-IIT
Q.; 'mm@%\{%%ﬁ@rﬁmmﬁmaﬁm

& ? 59 Fofa @ e o< e Rt @ R

W @

What is the role of marginal costing in the

decision of 'Make or Buy' ? Discuss the factors

also which effect this decision.
3@/ OR
e e e s $ af 2022 $ R s o
o & e &
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10,000 * M9
20,000
T 60,000
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3BRAT ad T ?

(@ @i fEmT w® 10,000 ¥ sRRw o A

S q 20,000 T i @y TR A @

T R e sl adr 3 P
NJ-1216 '

(9)
(U)Hﬁﬁa‘favﬂs%mm%mmm'

12,000 T @ o o foerdt samear 4 30

.The following data relate to the production and

sales of a company for the year 2022 :

Sales in units v ’ - 10,000
' Loss %20,000
Fixed Expenses ¥ 60,000
Var'i.able cost per unit 316

On the basis of above, determine :
(a) P/V Ratio

(b) Break-even point

(c) How many units should be sold to earn zero

profit if rupee one per unit is spent extra on

attractive packing ?

PlTlol

NJ-1216
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(11)

. ”

(d) How many units should be sold if ¥ 10,000 o )

' 3 AT g
extra should be spent on advertising anc‘l an )
annual profit of ¥ 20,000 is desired ?

o 25
(e) How many units should be sold if sales
. WRadele  suRery -
price is reduced by 5% and a profit of ¥
12,000 is desired ? _ . I 3uRea 1,00,000 % 10
$3-IV / UNIT-IV uRadaeler e &
Q. 4. guet o= @ § ? 595 R & fore IRy ST R @ 10% fer s
il @ ) i o - fawmor 7 20% fer 7
-What is Budgetary Control? Discuss  the |
WIS T 50,000 I 5

necessary steps which are taken for its
P AN I 155
installation.
8,000 $TFUT TF 6,000 SHRAT F folT IqET $ s
3yar/ OR -
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The eX

units in a factory aré furnished below :

T per unit
Materials 70
Labour : 25
Variable overheads : 20
Fixed overheads ¥ 1,00,000 ' 10
Variable Expenses 5
Selling Expenses, 10% fixed - 13
Distribution Expenses, 20% fixed 7 |
Administrative Expenses ¥ 50,000 5
Total Cost % —‘T__ﬁ_f'?;
NJ-1216

penses budget for production of 10,000 ey,

(13)

Prepare a budget for the production 8,000 and
6,000 units. Assume that administrative expenses

are rigid for all level of productio“,

$B15-V / UNIT-V
Q5 mmﬁﬁ:@rmm%? $E6 el AR
wart o1 fedm Sifsw
What is meant by standard costing ? Discuss its
advantages and applications.
3rrar/ OR
Prefifen Rewr & s ama Reor @ R
BT :
W S ¥R
'NJ-1216 P.T.0.
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(15)
A 10,000 B9 & 0.50 I ST HET >000 3 ‘® ,
A 12,00Q Hrs. @ ¥ 0.60 per hour %7,200
B 10,000 T & 0.25 T Hid GUer 2,500 ¥ B 8500 ;
' Hrs. @ ¥ 0.40 per hour ¥ 3,400
— s o .
TRdfa® Due to Machine break down, workers were idle
A 12,000 T & 0.60 T W "ver 7200% for 60 hours.
B 8,500 ®0¢ & 0.40 T 9fy wuey 3400 % |
“ s -~
ﬂ?ﬁ?ﬁ@é’f%?ﬂmeowﬁﬁmmﬁl
From the following particulars, calculate Labour ;
Cost Variance :
Standard Labour Force :
A 10,000 Hrs. @ % 0,50 per hour % 5,000 i
B 10,000 His. @ % 025 per poyr -+ % 2,600 ’ ;
Actual Laboyr Force : é
‘ ) q -
NJ-1216 : NJ-1216 2,400
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